Equilateral Triangle and Ranking Regions

· General Representation: 
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  B

Type 1 is A > B > C

Type 3 is C > A > B

Type 5 is B > C > A

Type 2 is A > C > B 

Type 4 is C > B > A 

Type 6 is B > A > C

Profile p = (p1, p2, p3, p4, p5, p6), where pi = number of voters who have Type “i” ranking.
· Class Voting Results:








        D
  
      [image: image1.png]








 C    


  W
 Type 1 is C > W > D

Type 3 is D > C > W

Type 5 is W > D > C

 Type 2 is C > D > W

Type 4 is D > W > C

Type 6 is W > C > D

Profile p = (3, 2, 5, 3, 1, 5).
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C  = courses


W = workout facility


D  = dining hall
































